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1. Evaluate ’111_1)11 Vn' +n =

2. Evaluate lim % VI

n—w

U A
f3.'Let f(X,J’) =e%— 2xy2 -3
@ Fnd Jx= TJWI;

TE
==
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(3 F]nd dx = . ~if f(x y) O

" 4. Find the max1mum and minimum values of the function .

f(x y) =e” subjecrtéthééoﬁ 'traintx2 +y2 :8-

|
(b) maximum value of the~fun€:t1({r‘1
. . r’
' (c) minimum value of the ﬁmcﬁ?fﬁ} o2

5. Bvdinate I xInfxdv_

_ - dy | 7 -
6. Find the general solution of - A =g e That is, y =
; i

7. 1If Lf(x)dx_: =7 and
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8. Find the minimum value = _ of the function

=ty j
9. When the fourth Taylor polynJ—J f (x) =

to approximate the integral E 14 2 A =

at x=0 isused

10. Bvaluate the integral: ,U(xr":" yr)—d, = whereRisthe
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reglon bounded by the graphis ¢ l =/2Xx and ¥V = X
i
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1. (20%)Supposea >0 foralln S,,—a +a,++a, and

Zan d1verges Prove that —-'SJ T % S aiticl deduc e that k

an

2
S converges.

2. (10%) The total resistance R of thre_eJ re51st0rs with resistance R, Rz,
. (el Rl
 and Rs, connected in parallel-,--x:}'J gwcrilby the relationship
_ E i
R,

T 1
"R R2R
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IfR,, R7, and R3 are measured at lOO 200 and 300 ohms respectlvely,

‘with a max1mum error of l%\ln réa asurement find the
approx1mate maximum error jn@} aljzllated value of R

3. (10%) A manufacturer is planning to sell a new product at the price of

$150 per unit and estimates that if x thousand dollars is spent on

*flf?ll rs 1is spent on promotion,

"
— (

[

" development and y thou

| 320y‘+l60x L

approxunately Ay unlts‘{) the product will be sold. The

cost of manufa_cturing the product is $50 per unit. If the manufacturer |
has a total of $8,000 to spend on development and promot1on how

awiemaid] (IR .
should this money be allocate'd fo gf rate the largest pOSSlble proﬁt‘7 E

d




	AV016675.pdf
	AV016676
	AV016677

